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(ii) ° qAT @ T BH § FEER & TAT 3 : 2 A H AW Sied o |
1 373, 2021 W 3Tk Yot @ral H AWM T 1,50,000 TAT T 2,00,000
% WY I | AP TOE H FEER 6 St W 10% a1 g T A 6
TEHE o7 | 31 /=, 2022 I §9TH §C 9¥ § ®H 1 T 10,000 H FTH

T | % IS | B 1
(a) ¥ 15,000 (b) T 9,000
© Y& (d ¥ 6,000

67/3/1 ~ o~~~ Page 2



e

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

(v)
(vt)
(vii)
(viit)
(ix)

67/3/1

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

1)

(i1)

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

PART A

(Accounting for Partnership Firms and Companies)

Keshav and Karan were partners in a firm sharing profits equally.
The capitalised value of average profits of the firm was
T 18,00,000. Assets of the firm were < 20,00,000 (excluding
goodwill) and Liabilities were ¥ 5,00,000. The value of goodwill of
the firm by capitalisation of average profits method will be :

(a) ¥ 2,00,000 (b) ¥ 3,00,000
¢ ¥ 4,00,000 @ ¥ 3,50,000
OR

A and B were partners in a firm sharing profits and losses in
the ratio of 3 : 2. On 15t April, 2021 the balances in their capital
accounts were ¥ 1,50,000 and ¥ 2,00,000 respectively. The
partnership deed provided that interest on partners capital will be
allowed @ 10% per annum. During the year ended 315 March,
2022, the firm incurred a loss of ¥ 10,000. Interest on A’s capital
will be :

(a) ¥ 15,000 (b) ¥ 9,000
() Nil (d ¥ 6,000

-~~~ Page 3 P.T.O.
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(i1)

1)

(i1)

ATASRT & T ARIGH SAGUR Sl A T TR 7 |
(a) J=IE (b) ISy
(¢ dms (d)  EERRA

3T

form™ ATeier o o9 a9 fouSH o7quTd § aitadd o 99T H@Teieri %
ISt @t § GeRi’ i FefaRaa omua § gearana fohan ST B

(a)  TIM AJUTd
(b)  ATUATH U

(c) IUHT AT TI9TSH ST{9Td
(d) T A THSH AT

Tgeh T &I Teh ®H H HIEieR ¥ | BH o 99T o 90T A8 g BH
&1 feam T = T 30,000 o1, W gr feam m kO T 15,000 o1 99T
sfafa Tefier gro foam = =0 = 10,000 o1 | FEYAT A fhAT STW
(a) TS o ROT HI

(b)  HEH h Ul H

(c)  sfifa wier & o1 &1

(d) g% o RO AT TN o VT I IhI RN T oh FTITA H

AT

Y dur o1 T ®H H WTEER o 91 5 : 3% AU H ATY-gIH
ﬁmmamﬁ%wmﬁﬁtsﬁ%swﬁﬁ%w%fwwmm%
w7 & A% fam T | oot ¥ STy Wit b g i g & wEw e |
frferRaa o & ameht 3 Fraen s o & TEw o

1

(a) 0

(b)

—
®|w N
o|°"’

(c)

ol Do

(d)
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2. (1) is the basis of relationship between the partners to run the
partnership business. 1
(a)  Offer (b)  Agreement
(c) Understanding (d)  Acceptance
OR

(i1)) At the time of change in profit sharing ratio among existing
partners, ‘Reserves’ are transferred to Partners’ Capital Accounts
in the following ratio : 1

(a)  Sacrificing ratio

(b)  Gaining ratio

(c) Old profit sharing ratio
(d)  New profit sharing ratio

3. (1) Mehak and Ravish were partners in a firm. On dissolution of the
firm, the loan given by Mehak to the firm was ¥ 30,000, by Ravish
was ¥ 15,000, and by Mrs. Ravish was ¥ 10,000. The first

payment will be made for : 1
(a)  Ravish’s loan

(b)  Mehak’s loan

(c) Mrs. Ravish’s loan

(d) Mehak’s loan and Ravish’s loan in the ratio of their loan
amount

OR

(i1)  Surbhi and Leena were partners in a firm sharing profits and
losses in the ratio of 5 : 3. Ashi was admitted as a new partner for
i share in the profits of the firm. Ashi acquired % of her share

from Surbhi. From the following, how much share did Ashi acquire

from Leena : 1
1 3
= b 2
(a) 0 (b) 20
2 3
4 d i
(c) = (d) 3

67/3/1 ~ o~~~ Page 5 P.T.O.
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1)

(i1)

e fafies 9 100 9% & 20,000, 11% RO9ET &1 (94
10% Siftem s foma, St mem 5% Hiftem w fhar Sm1 8 | Seoren
o T 9t g1 @rd’ & AW g § @it b S

(a) < 3,00,000

(b) < 2,00,000

(c) < 1,00,000

(d) < 22,00,000

AT

wm fafies @ mé fafies @ = 8,00,000 st gfErafaat &1 w1 feen
T T 2,00,000 I IATE & | YTAH T 100 TAP h 8% FIGAT hl

20% Ateea R e e fpan srem | frifia fope S ater oo
<1 T B

(a) 50,000
b) 5,000
() 6,000
d  6,00,000

‘Gfaa gSit o wrerg 1 FEiad § 9 H-81 %9 9 3 2

(a)

(b)
(c)

(d)

g ST Yot T 98 91T & T8 had HFot o T o THI g AT
ST R |

Ig fied doft o1 a8 Wi B f98 ot w A forem e 7

g A= goit 1 98 9T & 8 el § aread ® yTH L o=
2 |

Ig 3Mfsha doft &1 97 i B 59 armaa & SHar #1 g & fore
frifira fopem w2

TTE, HEOMT QT Mg | 8 Q91 5 : 4 : 3 % T{IId H ATY-gI Sied & |
1 37, 2022 I FM TG & T4 | T qAT MG 4 39 T 1,20,000 H1

YA ich AT H 38eh T T 563 L ol | T 80,000 T YA TITA qqT
T 40,000 T T Mdg 7 fopam | ey agura g

(a)
(c)

5:3 b) 4:3
1:1 d 2:1

~~~~ Pag eb



4. (1) Sunbeam Ltd. issued 20,000, 11% debentures of ¥ 100 each at a
premium of 10%, redeemable at a premium of 5%. The ‘Loss on
Issue of Debentures Account’ will debited by : 1

(a) ¥ 3,00,000
(b) T 2,00,000
(¢ ¥ 1,00,000
d T 22,00,000
OR

(ii)  Nargis Ltd. purchased assets of ¥ 8,00,000 and took over liabilities
of ¥ 2,00,000 from Gauri Ltd. The payment was made by issue of
8% Debentures of ¥ 100 each at a premium of 20%. Number of

debentures issued will be : 1
(a) 50,000
(b) 5,000
(¢) 6,000
(d  6,00,000
5. Which of the following statements is true for ‘Reserve Capital’ ? 1

(a) It is a portion of the uncalled capital to be called only in the event of
winding up of the company.

(b) It is a part of the subscribed capital which has been called-up on the
shares.

(c) It is that portion of the called-up capital which has been actually
received from the shareholders.

(d) It is that part of the authorised capital that is actually issued to the
public for subscription.

6. Gopal, Krishna and Govind are partners sharing profits and losses in the
ratio of 5 : 4 : 3. Krishna retired on 15t April, 2022. Gopal and Govind

purchased her share of profit by giving her ¥ 1,20,000, ¥ 80,000 being

paid by Gopal and ¥ 40,000 by Govind. The gaining ratio will be : 1
(@ 5:3 b) 4:3
(© 1:1 @ 2:1

67/3/1 ~ o~~~ Page 7 P.T.O.
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7.

S7fYFHYT (A) : FIEIER o KU1 W SIS <hl Wl ATH-BI @Td o 98 97 § <hl
STt 7 |
FRU(R):  HIECH o kU W SIS ATH o foeg TUR B |

ITYh AR (A) AT HRU (R) o MR | FfaRed & ¥ @&l foshed 1
W@ﬁm:

(a)  AMTHAT (A) & 8 9T RO (R) Teld 2 |
(b)  ATTHAA (A) T B qAT HRT (R) Tl 2 |
() I AR (A) T HR (R) T 2 |
(d) gl AR (A) 99T SRl (R) Toid & |

(i) T 10 % Wb o, @ T 2 Ui 3191 sifmey W Frifia foram w8, 5|
w T8 Ud s (fftem wfgd) =wm far mw &
T 6 ia 31w (fiftem afgd) we s forw w &, o1 g o form | e

o @ 3 T e e B e

(a) <10 (b) T8

(e T12 (d) T6
HAYAT

(i) T 100 % Ush A I, G W T 70 IH R fofw M &, T 30 i 31fem
FTHAT ST YA T HE o HRUT, BT h o1 | 98 —Jdad TR E R/
3G 3730 I AIHA TohaT ST Hehall 8, B

(@ T 170 (b) T 30
(c) < 100 (d) T 130

feferfaa Hreqi4e Tfd &1 9ieT Tor 399 &1 T8 a1 & 37MYR | 397 &1 9 797
10 % 3R T -

67/3/1

313, =% T oo AR & 997 2 1: 2 STJUMA H AT o1 faweH s
& | TR St A T 5,00,000, T 3,00,000 9AT T 2,00,000 ff | A A
e €9 U I8 TR < Toh fopet oft o & oo & o9 &1 wm |eft areier
H 5% Ui a9 H @ H St W AN ¢ o 91 T 75,000 § HH T8 0T |
31 A=, 2022 %! HHTH §T 99 1 A9 T 2,00,000 T |
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Read

Assertion (A) : Interest on partners’ loan is debited to Profit and Loss

Account.

Reason (R): Interest on partners’ loan is a charge against profits.

On the basis of the above Assertion (A) and Reason (R), choose the correct

option from the following :

(a)  Assertion (A) is correct and Reason (R) is wrong.

(b)  Assertion (A) is wrong and Reason (R) is correct.

(c) Both Assertion (A) and Reason (R) are correct.

(d)  Both Assertion (A) and Reason (R) are wrong.

(1) A share of ¥ 10 issued at a premium of ¥ 2 per share on which ¥ 8
per share (including premium) have been called and ¥ 6 per share
(including premium) is received, is forfeited. Share Capital
Account will be debited by : 1
(a) T 10 (b) <8
(c) T 12 d <6

OR

(i1)) A share of ¥ 100 on which ¥ 70 has been received is forfeited for
non-payment of final call of ¥ 30. The minimum price at which
this share can be re-issued is : 1
(a) T 70 (b) ¥ 30
(c) < 100 d <130

the following hypothetical situation and answer questions number

9 and 10 on the basis of information given :

67/3/1

Anu, Charu and Divya are partners sharing profits and losses in the ratio
of 2 : 1: 2. Their capitals were < 5,00,000, ¥ 3,00,000 and ¥ 2,00,000
respectively. Anu personally guaranteed that in any year, Divya’s share
of profit after allowing interest on capital to all partners @ 5% p.a.
would not be less than ¥ 75,000. The profit for the year ending
315t March, 2022 amounted to ¥ 2,00,000.

-~~~ Page 9 P.T.O.



9. feem & i i ufy fFfafea afra w0 2 1
(a) T 75,000
(b) T 5,000
¢ T 15,000
d ¥ 20,000

10. TRE i TRT T AURISE S o I991d dTeieRi o sta fautiaa 6 S aref!
3ifcd @y <6t Tl g 1
(a) A4 T 50,000; =T T 25,000 feem = 75,000
(b) A4 T 55,000; =% T 30,000; feem = 65,000
(¢) 3T T 57,000; T T 28,000; f&= = 65,000
(d) 3T T 45,000; =T T 30,000; f&= = 75,000

11. Toshd qem gia T H | AT9ER 9 QT 2 : 1% U § AH-gTH 1 fawTeH
Hd o | gt FHRISH % 9vETq fashd dur giba i OGSt A T 50,000 q9
2 40,000 off | 3R A B & o Fow w A W@ % = A
ToIRT TS | S0 %H H ST ISl AT | &= g A8 T8 oi ol Uir oft ¢ 7

(a) T 45,000
(b) T 30,000
(¢ ¥ 60,500
d ¥ 90,000

12. fem fafies 3 =wm fafes it £ 30,00,000 & giErfa™t aor T 12,00,000
i IATE T 23,00,000 % I oI & &l ol | T qoF h g THEHRET T
T 5,00,000 % AR eI hl @A g 1
(a) TIAIfd @Td & 9 9 o
(b)  YSit ¥ @Td % ST 9&F H
(¢) Teshar & @rd & @7 9T A
(d) YN T=9 @1d o AW 9y H

67/3/1 ~~~~ Page 10



9. Divya’s amount of guarantee is short by the following amount : 1
(a) ¥ 75,000
(b) ¥ 5,000
(c) T 15,000
(d ¥ 20,000

10. The final amount of profit distributed among the partners after
adjustment of guaranteed amount will be : 1

(a) Anu T 50,000; Charu ¥ 25,000; Divya ¥ 75,000
(b)  Anu T 55,000; Charu ¥ 30,000; Divya ¥ 65,000
(c) Anu T 57,000; Charu ¥ 28,000; Divya ¥ 65,000
(d) Anu T 45,000; Charu ¥ 30,000; Divya ¥ 75,000

11. Vikram and Sumit were partners in a firm sharing profits and losses in
the ratio of 2 : 1. The capitals of Vikram and Sumit after all adjustments
were ¥ 50,000 and ¥ 40,000 respectively. They admitted Jayant as a
partner for % share in the profits of the firm. Jayant brought

proportionate capital in the firm. The amount of capital brought in by

Jayant was : 1
(a) ¥ 45,000
(b) < 30,000
(c) T 60,500
(d ¥ 90,000

12. Rhythm Ltd. took over assets of ¥ 30,00,000 and liabilities of ¥ 12,00,000
of Shyam Ltd. for a purchase consideration of ¥ 23,00,000. Excess value of
purchase consideration of ¥ 5,00,000 over net assets will be : 1

(a)  Debited to Goodwill Account

(b)  Credited to Capital Reserve Account
(c) Credited to Vendors’ Account

(d)  Debited to Capital Reserve Account

67/3/1 ~a~~ Page 11 P.T.O.



14.

15.

16.

67/3/1

SIM AT T Toh HH o A1) o Q7 2 : 3 o I H ATH-gIH o1 fadm=H
A I | 1 YA, 2022 U IBMH ATH-BI bl SUSL-SS died T Fghfd hl |

AT fI9TSE AU | TG o ST 30 T STRIATY a1 W g ¢

(a) M 1

10
(b) stfremy L
10

2

(c) amg

@ ey %

T TTEERI BH Sl FEIRT S T 6,00,000 7 | 39T SiEd AW T 80,000 7 |
TH] Yh o I H Tfdhal shl BT & 10% & | 3Ty <l iy 2

(a) ¥ 60,000 (b) T 8,000
(¢ ¥ 20,000 @ ¥ 52,000

1 310, 2021 i FHeT s 4 T 100 I3 & 5,000, 8% FOMIHT o1 A
10% e o fRam | 31 WG, 2022 1 THE BH Tt 99 § ROGAT W $Hd
T <h! Ui Al

(a) ¥ 25,000
(b) ¥ 20,000
(c) < 50,000
(d) ¥ 40,000

geH s 9 T 100 I8 & 4,000, 6% RO 1 FHT T 95 Ifd o
T HIAT | 6% RUTT @WId o JHT 987 ° @il 6l e}

(a) ¥ 3,80,000

(b) ¥ 4,40,000
(c) < 4,00,000
(d ¥ 20,000

~ Page 12



14.

15.

16.

67/3/1

Isha and Naman were partners in a firm sharing profits and losses in the
ratio of 2 : 3. With effect from 15t April, 2022 they agreed to share profits
and losses equally. Due to change in the profit sharing ratio, Isha’s gain
or sacrifice will be : 1

(a) Sacrifice i
10
(b) Gain 1
10
) 2
(c) Sacrifice 3

2
d Gain —
(d) am5

A partnership firm has capital employed of ¥ 6,00,000. Its average
profits are ¥ 80,000. The normal rate of return in similar type of

business is 10%. The amount of super profits are : 1
(a) ¥ 60,000 (b) < 8,000
(c) T 20,000 (d T 52,000

On 15t April, 2021, Narmada Ltd. issued 5,000, 8% Debentures of ¥ 100
each at a premium of 10%. The total amount of interest on debentures for

the year ending 315t March, 2022 will be : 1
(a) T 25,000
(b) < 20,000
(c) < 50,000
(d) < 40,000

Sunbeam Limited issued 4,000, 6% Debentures of ¥ 100 each at ¥ 95 per
debenture. 6% Debentures account will be credited by : 1

(a) ¥ 3,80,000
(b) T 4,40,000
(c) < 4,00,000
(d ¥ 20,000

~a~~ Page 13 P.T.O.
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17.

18.

19.

67/3/1

Fh, AW AUl HEl Th BH H HEER T | IR RN gS
HUE: T 5,00,000, T 10,00,000 TAT T 15,00,000 off | o 7o TR IS h
AT W AW Fied & | BH T a8 31 W hl U e &g ! & |
30 T&aF, 2021 %1 %% I Gog B TS | ATH H HAh o HE hl AT s
feufa faawor 1 fafy @ gog & fafy o fosea % SaR w1 ST@l |
T¥ 2020 — 21 1 fashad qT @9 HEM: T 20,00,000 99T T 2,00,000 o7 |
1 3794, 2021 & 30 foarsr, 2021 9% fasha T 6,00,000 o7 |

(1)
(i1)

()

Tk o ATH o HIT hl VAT hHifoT |
AT | heleh oh VT o AQIhd <hl TEWIH UsHTHEET ffse HifT |

g fAfis 7 T 100 98% & 10,000, 8% FITIET ol 6% &g W ifHa
TR | Tfsr &1 AW = TR ¥ ¥ o ;T 60 3MeET W aAT IN
e W | |t Ty ferferaa amm &

ur fAfide 61 geaenl § Ewdeh UeHMET Jiafsedl i |

HAAAT

T HFH 9 T 10 T o qUId: AT 4,000 3T, 9 W T 3wl
319 i 3TMeed TR 1 PaM foham T o, b1 &0 R form | s |
2,000 3731 %! qU1 J&a T 18,000 T IA:Fifa =t feam m |

3Th THCAT % ToTT SATawaeh UeHmH=n Yfafsedt i |

T, B9 QT 09 G189’ 9 a1 2: 1 : 19 314 B oY died o | T
9 gfd "8 T 3,000 qAT HAT 4 UG W@ T 4,000 T TS foRAT |
MR W 6% AT G H SIS T AT Selfeh ATHEH! Tor@ M T
S o fowg # H/4 o |

39 T I TIL T H I g, I I Yg HH 3 SeRTH THRISH
yfafse i |

AT

3TE QAT S TTEGR o AT 3 : 2 UG H AW died o | ITeh it
HES: T 50,000 TAT T 30,000 off | ATHEH Horl@ H IS W 6% aTfue
Y B qAT §%F bl ST <4 BT qAT 5% bl T 1,000 o FATHH Iad
S W WEYH o7 | 1 ITagEY, 2021 Wi & 4 AN o aR H fohet
gaEd o foFT BH 1 T 1,00,000 =1 k01 fean | 99 2021 — 22 § AR
A T 26,800 U |

31 HT=, 2022 %! THTH §C 99 & fau wH 1 - fafw=se @
ﬁwﬁﬁm

~ Page 14




17. Kanak, Kamal and Kanha are partners in a firm. Their fixed capitals
were ¥ 5,00,000, ¥ 10,00,000 and ¥ 15,00,000 respectively. They share
profits in the ratio of their fixed capitals. Firm closes its books of accounts
on 31st March every year. Kanak died on 30th September, 2021. Kanak’s
share of profit till the date of death from the last Balance Sheet date, was
to be calculated on the basis of sales. Sales and Profit for the year
2020 — 21 were T 20,00,000 and T 2,00,000 respectively. Sales from 1st
April, 2021 to 30tk September, 2021 were T 6,00,000.

(1) Calculate Kanak’s share of profit.
(ii)  Pass necessary journal entry to record Kanak’s share of profit. 3

18. (a) M Ltd. issued 10,000, 8% Debentures of ¥ 100 each at 6%
discount. The amount was payable as ¥ 60 on application and the
balance on allotment. All money was duly received.

Pass necessary journal entries in the books of M Ltd. 3
OR
(b) A company forfeited 4,000 shares of ¥ 10 each fully called-up, on
which application money of ¥ 3 each has been paid. Out of these,
2,000 shares were reissued as fully paid up for 18,000.
Pass necessary journal entries for above transactions. 3

19. (a) Raman, Manan and Naman were partners sharing profit in the
ratio of 2 : 1: 1. Raman withdrew ¥ 3,000 every month and Manan
withdrew ¥ 4,000 every month. Interest on drawings @ 6% p.a.
was charged whereas the partnership deed was silent about
interest on drawings.

Showing your working clearly, pass the necessary adjustment
entry to rectify the error. 3
OR

(b) Arun and Barun were partners sharing profits in the ratio of
3 : 2. Their capitals were ¥ 50,000 and ¥ 30,000 respectively.
Partnership deed provided for interest on capital @ 6% p.a. to Arun
and Barun and quarterly salary of ¥ 1,000 to Barun. Arun had
given a loan of ¥ 1,00,000 on 15t October, 2021 to the firm without
any agreement about interest. For the year 2021 — 22, the profits
earned were ¥ 26,800.
Prepare Profit and Loss Appropriation Account of the firm for the

year ended 315t March, 2022. 3
67/3/1 ~~~—~ Page 15 P.T.O.
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20.

21.

22,

67/3/1

Ifsreht qem RraT T H % AIRIGR ¥ qT IRl gSit shEST: T 1,00,000 T
< 80,000 of | 3= 1 378@, 2022 H Wiy F st A i Wt 3 fg e
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Vanshika and Shikha were partners in a firm with capitals of ¥ 1,00,000
and ¥ 80,000 respectively. They admitted Nisha on 15t April, 2022 as a
new partner for i share in the future profits of the firm. Nisha brought
T 90,000 as her capital. Nisha aquired her share equally from Vanshika
and Shikha. Calculate the value of goodwill of the firm and pass
necessary journal entries on Nisha’s admission, assuming that Nisha did
not bring her share of goodwill premium in cash. Show the working

clearly.

Pawan Ltd. was registered with an authorised capital of ¥ 10,00,000
divided into 1,00,000 equity shares of ¥ 10 each. The company offered to
the public for subscription, 80,000 equity shares. The amount per share
was payable as follows :

On application — < 3,
On allotment - T 2
On first call — T 3and

On second and final call the balance
The issue was fully subscribed and all amounts due were received except
the first and final call money on 2,000 shares allotted to Chavi. Her
shares were forfeited.
Present the Share Capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare Notes to
Accounts for the same.

Ravi, Kavi and Chand were partners sharing profits in the ratio of
5:3:2. On 315t March, 2022, their Balance Sheet was as follows :

Balance Sheet of Ravi, Kavi and Chand as on 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Sundry Creditors 70,000 | Land and Building 3,50,000
Chand’s Loan 20,000 | Stock 3,00,000
Mrs. Chand’s Loan 20,000 | Debtors 2,00,000
Capitals : Less provision 10,000 | 190,000
Ravi 4,00,000 Cash 70,000
Kavi 3,00,000
Chand 1,00,000 | 8,00,000
9,10,000 9,10,000
-~~~ ~ Page 17 P.T.O.
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The firm was dissolved on the above date.

(1) Land and Building and Stock were sold for ¥ 6,00,000. Debtors
were realised at 10% less than the book value.

(i1))  Mrs. Chand’s loan was settled by giving her a computer of ¥ 22,000
not recorded in the books.

(iii) Ravi paid off one of the creditors ¥ 20,000 in settlement of his
amount of ¥ 30,000.

(iv) Remaining creditors were paid in cash.
Prepare Realisation Account. 4

23. (a) Lotus Ltd. invited applications for issuing 80,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable

as follows :
On application — < 5 per share and
On allotment - T 9 per share (included premium).

Applications were received for 1,40,000 shares and allotment was
made to all applicants on pro-rata basis. Money overpaid on
applications was adjusted towards sums due on allotment. Rajiv,
who had applied for 1,400 shares, failed to pay the allotment
money. His shares were forfeited. Later on, these forfeited shares
were reissued at ¥ 9 per share as fully paid up.

Pass necessary journal entries for the above transactions in the
books of Lotus Ltd. 6

OR

(b)  Tulip Ltd. invited applications for issuing 2,40,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable
as under :

On application — < 4 per share (including premium < 2)

On allotment — < 4 per share

On first and final call — ¥ 6 per share (including premium < 2)
Applications for 3,00,000 shares were received and pro-rata
allotment was made to all the applicants. Excess application
money received with applications was adjusted towards sums due
on allotment. All moneys were duly received except from Rohini
who had applied for 7,500 shares, and failed to pay allotment and
first and final call.
Pass the necessary journal entries for the above transactions in the
books of Tulip Ltd. Open Calls-in-arrears and Calls-in-advance
account, wherever necessary. 6
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24. (a) On 315t March, 2022 the Balance Sheet of partners A and B, who
were sharing profits in the ratio of 3 : 2 was as follows :
Balance Sheet of A and B as at 315t March, 2022
A t A t
Liabilities moun Assets moun
< <
Creditors 30,000 | Cash at Bank 20,000
Investment 12,000 | Debtors 85,000
Fluctuation Fund ’ ’
Less
General Reserve 25,000 | provision 5,000 80,000
Capitals : Stock 1,30,000
A 1,60,000 Investments 60,000
B 1,40,000 | 3,00,000 | Furniture 77,000
3,67,000 3,67,000
On 15t April 2022, they decided to admit C as a new partner for %
share in the profits on the following terms :
(1) C brought ¥ 1,00,000 as his Capital and ¥ 50,000 as his
share of Premium for Goodwill.
(ii1)  One month salary ¥ 2,000 was outstanding.
(i1i) The market value of investments was ¥ 50,000.
(iv) A debtor, whose dues were written off as bad debts, paid
T 12,000 in full settlement.
Prepare Revaluation Account and Partners’ Capital Accounts. 6
OR
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(b)  Anita, Geeta and Sita were partners in a firm sharing profits
and losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at
315t March, 2022 was as follow :

Balance Sheet of Anita, Geeta and Sita as at 315t March, 2022

Amount Amount
Liabilities T2 | Assets e
Capitals : Land and Building 4,80,000
Anita 2,00,000 Investments 1,20,000
Geeta 2,00,000
Sita 100,000 | 5,00,000 | DePtors 150,000
Less
1
General Reserve 30,0001 b ovision 10,000 | 1,40,000
Creditors 5,00,000 | Stock 1,20,000
Cash at Bank 1,70,000
10,30,000 10,30,000

On the above date, Anita retired from the firm and the remaining
partners decided to carry on the business. It was agreed to revalue

the assets and reassess the liabilities as follows :

(1) Goodwill of the firm was valued at ¥ 3,00,000.

(ii) Land and Building was to be appreciated by ¥ 1,23,000.

(iii) Bad debts amounted to ¥ 20,000. A provision for doubtful
debts was to be maintained at 10% on debtors.

(iv) Anita was paid ¥ 80,000 immediately by cheque. The

balance amount was transferred to her loan account which
was to be paid in two equal annual instalments along with
interest @ 10% p.a.

Prepare Revaluation Account and Partners’ Capital Accounts on

Anita’s retirement. 6

~~~~ Page 23 P.T.O.



25. I, A TAT HfYehT Th BH H TTHER & AT 2: 2 : 1 o I H ATH-EIH
Sied 9 | 311, 2022 1 31 feufa foawor 1 g & o

31 AT, 2022 T T, I AT FToehT T el feawor

ESilE T wd el 5,00,000
qw 3,00,000 wih 1,00,000
At 2,00,000
EaiEa) 1,00,000 |  6,00,000 Gl 00,000
A §= 50,000 | Sk H Tehg 40,000
IS EIALY 50,000
7,00,000 7,00,000

31 JA15, 2022 I U1 hl o 81 T3 | ATBIGH i@ & JFER Jdeh ATEGR &

fsaress 1 & gher 9

(i)  HTEER % 9ot @ § 9y |

(i) ¥ 15,000 AT I |

(i) TaTfd & 9 et T fUse dF st % oftgd @i % g e W
YR G <h1 ST |

(iv) ToSc T@mhd 9y <hl TuTe & g ol fafdr a6 @i § 9T [Eeh! 7o
o ¥ & @9 & R | H J@h | 2019 — 20, 2020 — 21 T
2021 — 22 &9 A T 1,00,000, T 2,00,000 99T T 1,50,000 & |

(v) Q9 9 17, 2022 F 39 AT TN 3 fIC T 20,000 T AR
fopam |

34 R I T § G L I8k (SATGhI hl TEqd i ad qu1 1 Yoit
QAT IR HIT |

67/3/1 ~ o~~~ Page 24




e

25. Trisha, Anisha and Rishika were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022
was as follows :

Balance Sheet of Trisha, Anisha and Rishika as at 315t March, 2022
A t A t
Liabilities moun Assets moun
< <
Capitals : Plant and Machinery 5,00,000
Trisha 3,00,000 Stock 1,00,000
Anisha 2,00,000
Debt 60,000
Rishika  1,00,000 | 6,00,000 | o0 ’
General Reserve 50,000 Cash at Bank 40,000
Creditors 50,000
7,00,000 7,00,000
Trisha died on 315t July, 2022. According to the partnership deed, the
executors of the deceased partner were entitled to :
(1) Balance in partner’s capital account.
(ii))  Salary @ ¥ 15,000 per quarter.
(iii) Share of goodwill calculated on the basis of twice the average of past
three year’s profits.
(iv) Share of profits from the closure of the last accounting year
till the date of death on the basis of last year’s profit. Profit for
2019 — 20, 2020 — 21 and 2021 — 22 were ¥ 1,00,000, ¥ 2,00,000
and ¥ 1,50,000 respectively.
(v)  Trisha withdrew ¥ 20,000 on 15t May, 2022 for her personal use.
Showing your working clearly, prepare Trisha’s Capital Account to be
rendered to her executors.
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26. (a) On 15t October, 2021 Pihu Ltd. issued ¥ 15,00,000, 9% Debentures
of ¥ 20 each at a discount of ¥ 6 per debenture. The company had
a balance of ¥ 1,00,000 in ‘Securities Premium Reserve Account’
on the same date. On 315t March, 2022 the company decided to
write off discount on issue of debentures according to the
provisions of Companies Act, 2013.
Pass necessary journal entries for issue of debentures and writing

off discount on issue of debentures.

(b)  On 1 st April, 2021, Soma Ltd. purchased land from Mona Ltd.
Soma Ltd. issued a cheque of ¥ 10,00,000 and accepted a bill of
exchange payable after 6 months for ¥ 5,00,000 in favour of Mona
Ltd. The balance amount was paid by issuing 5,000, 10%
Debentures of ¥ 100 each at par.

Pass the necessary journal entries in the books of Soma Ltd. for

the above transactions. 3+3=6
PART B

OPTION -1
(Analysis of Financial Statements)

27. (1) Which of the following is not a ‘Profitability Ratio’ : 1
(a)  Gross Profit Ratio
(b)  Return on Investment
(c) Proprietary Ratio
(d)  Operating Ratio
OR

(i1))  Which of the following is a tool of ‘Analysis of Financial
Statements’ : 1
(a)  Cash Flow Statement
(b)  Statement of Profit and Loss
(c) Balance Sheet
(d)  Both (a) and (b)
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30.
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(1)

(i1)

The Debt-Equity Ratio of a company is 2 : 1. Which of the following
transactions will increase the Debt-Equity Ratio ? 1
(a) Issue of shares ¥ 1,00,000

(b)  Issue of 9% debentures T 4,00,000
(c) Issue of bonus shares ¥ 3,00,000
(d) Payment of creditors ¥ 50,000

OR

During the year ended 315t March, 2022, Shradha Ltd. earned net
profit of ¥ 15,00,000 before interest and tax. The company has a
10% long term debt of ¥ 50,00,000. The tax rate is 40%. The

Interest Coverage Ratio of the company will be : 1
(a) 2 times
(b) 3 times
(c) 1-2 times

(d) 1-5 times

Which of the following transactions would result in inflow of cash and

cash equivalents :

(a)  Furniture costing ¥ 80,000 sold for ¥ 75,000

(b) Issue of bonus shares T 5,00,000

(c) Payment to trade payables ¥ 15,000

(d)  Provided depreciation on fixed assets ¥ 11,000

Which of the following transactions is not related to cash flows from
investing activities :

(a)
(b)
(c)
(d)

Purchase of marketable securities ¥ 25,000
Sale of land T 2,80,000

Sale of investments ¥ 3,00,000

Purchase of equipment ¥ 1,00,000

~~~~ Page 29 P.T.O.



32.

33.

67/3/1
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Classify the following items under major heads and sub-heads (if any) in

the Balance Sheet of a company as per Schedule III, Part I of the

32.

33.

67/3/1

(1)
(i1)

(iii)

(a)

(b)

Companies Act, 2013.

Mining Rights
Income received in advance

Capital work in progress

Identify and state the significance of any two ratios that are calculated to
measure the efficiency of operations of business based on effective

utilisation of resources.

Calculate Gross Profit Ratio from the following information :

Average Inventory ¥ 1,60,000; Inventory Turnover Ratio 8 times,

Average Trade Receivables ¥ 2,00,000; Trade Receivables
Turnover Ratio 6 times and Cash Sales 25% of Total Sales.

OR

From the following information, calculate Working Capital

Turnover Ratio :
Capital Employed < 1,00,000
Non-Current Assets < 80,000

Cost of Revenue from Operations < 3,20,000

Gross Profit Ratio 20%
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7 STculeh HIF i UleU 9T 38k YR W U 7T I3 1 I ST
‘Tep-gsfear’ fem @ i@ e e 3 ‘o fafire w5 ® oo
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2. oT9d gIAmd
et 3UR 2 5,00,000 |  4,00,000
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~—~
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Read the following hypothetical text and answer the given question on

this basis :

Azad, inspired by ‘Make-in-India’ mission, initiated his start-up in the
form of a company ‘Azad Ltd.” along with six other promoters in 2016.
The company has been earning good revenue consistently. The financial

position of Azad Ltd. as at 315t March, 2022 was as follows :

Balance Sheet of Azad Ltd. as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T 4
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 19,00,000 | 17,00,000
(b) Reserves and Surplus 1 6,00,000 3,00,000
2. Non-Current Liabilities
Long-term Borrowings 2 5,00,000 4,00,000
3. Current Liabilities
(a) Short-term Borrowings 1,70,000 1,75,000
(b) Short-term Provisions 4 2,00,000 1,65,000
Total 33,70,000 | 27,40,000
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets
(i) Tangible Assets 5 24,00,000 | 19,00,000
(i) Intangible Assets 6 4,00,000 3,00,000
(b) Non-current Investments 1,00,000 2,00,000
2. Current Assets
(a) Current Investments 1,40,000 1,70,000
(b) Inventories 2,60,000 1,30,000
(¢) Cash and Cash
Equivalents 70,000 40,000
Total 33,70,000 | 27,40,000
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. > >
(1) Reserves and Surplus 6,00,000 3,00,000

(Surplus i.e. Balance in Statement

of Profit and Loss)
(2) Long-term Borrowings

12% Debentures 5,00,000 4,00,000
(3) Short-term Borrowings

Bank Overdraft 1,70,000 1,75,000
4) Short-term Provisions

Provision for Tax 2,00,000 1,65,000
(5) Tangible Assets

Machinery 26,00,000 | 20,00,000

Less Accumulated Depreciation (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

(6) Intangible Assets

Goodwill 4,00,000 3,00,000

Additional Information :

(1) T 1,00,000, 12% Debentures were issued on 15t April, 2021.

(ii) A piece of machinery costing ¥ 80,000 on which accumulated
depreciation was ¥ 40,000, was sold at a gain of ¥ 10,000.

Calculate cash flows from ‘Investing Activities’ and ‘Financing Activities’. 6
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PART B
OPTION -11
(Computerised Accounting)

(i) From the following a legend can be repositioned on a chart : 1
(a)  On the corner only
(b)  Anywhere
(c) On right-side only
(d)  On the bottom of x-axis

OR

(i1))  Which of the following are the five pillars of computerised

accounting system : 1
(a) Data, Report, Ledger, Hardware, Software

(b) Data, People, Procedure, Hardware, Software

(c) People, Procedure, Ledger, Data, Chart of Accounts
(d) Data, Coding, Procedure, Rules, Output

Which of the following menu is used to create a group : 1
(a) Gateway to Tally > master > accounting information > display

(b)  Gateway to Tally > master > edit > accounting information

(c) Gateway to Tally > master > accounting information > create

(d) Gateway to Tally > master > alter > accounting information

From the following, identify the Accounting information sub-system

which generates periodic reports about sales and collections made : 1
(a) Cash and Bank sub-system

(b)  Sales and Accounts Receivable sub-system

(c) Inventory sub-system

(d)  Budget sub-system
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(i) Absence of data items is represented by one of the special values
from the following i.e. :

(a)  Single value
(b)  Stored value
(c) Multi value
(d)  Null value
OR
(i1))  The process of comparing input data with some unknown data is
called :
(a)  Storage data
(b)  Information data

(c) Data entry
(d) Data validation

Differentiate between ‘Generic software’ and ‘Specific software’ on any
three bases.

Explain the following two features of Computerised Accounting System :
(1) Simple and integrated

(i1)  Accuracy and speed

(a)  State the steps to be taken in preparation of a chart.

OR
(b)  What is meant by Accounting Cycle ? State its basic phases.

Name the financial function which returns accrued interest on a bond

with 5% coupon rate and where issue and settlement date of investment
is also given. Also explain its syntax.
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